Домашнее задание.
Умножение и деление целых чисел
1) Вычислите произведение:
а) -12 * 5 =                          г) -48 * (-1) =
б) -9 * (-24) =                      д) -57 * 0 =
в) 26 * (-12) =                     е) -39 * 1 =
2) Вычислите частное:
а) 72 : (-24) =                       г) -97 : 1 =
б) -96 : (-8) =                        д) 0 : (-42) =
в) -749 : 7 =                          е) -54 : (-1) =
3) Вычислите удобным способом:
а) 81 * 176 – 81 * 276 =
б) 35 * 74 – 35 * (-126) =
в) 128 * 375 + 625 * 128 =
г) 729 * 241 – 929 * 241 =
д) 72500 – 725 * 99 =
е) 32 * 80 – 3200 = 
4) Найдите значение выражения:
а) -432 : (-9) : (-24) =
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